
Example: If line AB is parallel to line CD and s is parallel to t, find 
the measure of all the angles when m< 1 = 100°. Justify your answers.

m<2=80°   m<3=100°  m<4=80°

m<5=100°  m<6=80°   m<7=100°   m<8=80°   

m<9=100°   m<10=80°   m<11=100°   m<12=80°   

m<13=100°   m<14=80°   m<15=100°   m<16=80°   

t

16 15
1413

12 11
109

8 7
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34

21

s

DC

BA



Example:

1.  the value of x, if m<3 = 4x + 6 and the m<11 = 126.

If line AB is parallel to line CD and s is parallel to t, find:

2.  the value of x, if m<1 = 100 and m<8 = 2x + 10.

3.  the value of y, if m<11 = 3y – 5 and m<16 = 2y + 20.

ANSWERS:

t

16 15
1413

12 11
109

8 7
65

34

21

s

DC

BA

1.  30

2. 35

3. 33


